JDW MIFIERERAR

RS R EEET IS M [T AU 5%

CHELIC PNEUMATIC
C AER4EE

EBEER

TEBEIEE, »—BIHEEZEIR
' BER S BAM /D £ o RIS END £
/ Wi 2 1R AR E R AR - R

d
/ ~ FERLES -
|

SE I el

© SRR - FIBELZTEMIE - FEVNEHZA -
O© EREMIMNER @ BEEEEKE - AIfERBEMLIREIERS -
O K BEIEEIR - BEFER BIBRFIZEHRBA/ D L 2 ¥} BEERRRI B IR KTE ©

C R/

EETTIRNTTTE RN B S R N T T

EENRI X HENUREL - BENREL - (( WEh=CRiEL )
fER R TR
FEHERNHEE kgfilem? (kpa) 1.5~ 7 (150~ 700) ‘ 1~7(100 ~ 700)
RAEHEN kgficm? (kpa) 9 (900)
16 AR FE & [E ® 0~ 60
fE R mmisec 50 ~ 500 | 50 ~ 350 | 50 ~ 250
ey BEMH#iEAR
R EEOE M5 x 0.8 | Rc 1/8 Rc 1/4 | Rc 3/8
BERKE EWES (FTRERREMAMMEAE- 7 S 7))
fREEZE EBEIER
O FTETBIFNSR
Il@ﬂ. x - Gﬂﬂb
| wmatg | [ maes | [ maaR | | mwmFm | | =g | | MBESE |
20 — @20 mm @20 — 5~100mm < ——
25 — @25 mm @25 — 5~100mm f R
32 — @32 mm @32 —5~100mm (935)4
40 — @40 mm @40 — 5~150mm o8
50 — @50 mm @50 — 5~150mm - [ ] ?S'3OE S[E[2
63 — @63 mm @63 — 5~150mm RECH ¢ BRIR P SRERSR TR
| [t
80 — @80 mm @80 — 5 ~150mm FESRE08E (CS-30E)
100 — @100 mm @100 — 5 ~150mm @j;f;f
1 =1 {El/%AE
2 =2 {ERAERR
|
[B]
A B : #S8IF W
‘ MNiEE
o [EERANT WEEEL [LB | cs-9D  [s[D[2
© SFBEBEM B/ [S]: mmsm
[D]: mumesganss cson)
JDWAD
JDWAD:
WA FATTR2 A AL

© [fEATIAEM S ”

JDW FHiglERE 8 BRI uamen)

SrEERRYT

©C JDW @20 ~ @25

M 5t 0 1742 35,45 ZABRE/AM SmmitH o

C RFBERRT

a1

A+ fiR
B1 C+17%2
G
N N
53 O
P .
w 1 1
L P2 P2
P1 P1
M

T

© JDW @32 ~ 3100

D
S R
LE
K:
. =
N>
i)
&=
4-P4
C I FEFRR~
B2
H1
H

Y : 17%2A 5,15,25,35,45,55 Y ABEREAM S5mmEtHE o

— |45 | 13 | 14

CHELIC PNEUMATIC

-0.05

14}
4]

K2

23]

pes]

IIIIHIIIIII!II
13

7.5

WJD
AEREL

WJDAD

BERE

JDW
ARERE

JG

mEMER
AERE

JGAD

e
AERE

WTD
5L

WTB
e

SRR

WNQ
ZERRH

CS-30E

CS-9B

A [ B [B2] C |
20 28 | 85 |225 |19.5 M4x0.7Px10 & | M6x1.0P 3 M5x0.8P
25 302 | 9 25 | 212 | - 4.9 15 16 | M5x0.8Px12  # | M8x1.25P 17 3 8 M5x0.8P
32 34 10 | 27 24 50 6.3 16 17 | M6x1Px14 % | M10x1.25P 22 3 9 PT 1/8
40 36.5 | 10 | 37 |26.5| 58 6.3 | 25 27 | M8x1.25Px14 % | M14x1.5P 28 3 10 PT 1/8
50 406 | 12 | 39 |286 | 71 6.9 | 25 27 | M10x1.5Px15 & | M18x1.5P 38 3 10.85 | PT 1/4
63 44 | 11.5 | 38.5 | 325 | 84.5 | 6.9 | 25 27 | M10x1.5Px15 % | M18x1.5P 40 3 11 PT 1/4
80 55 | 13.7 | 46.7 | 41.3 | 104 8 30 33 | M14x1.5Px20 & | M22x1.5P 45 4 13 PT 3/8
100 57 | 11.7 | 44.7 | 453 | 124 6 30 33 | M16x2Px20 & | M22x1.5P 45 4 15 PT 3/8
o™ emmn  ee RS nlvw]x) v
20 @I 94.3, HWF M5x0.8Px6 R D7X5 EHGTEE)) 11 5 - 34 24 8 6 - -
25 @I 95.1, HF M6x1.0Px8 & K7L 98x6 7 (M8) 14 6 = 40 28 10 8 = =
32 @l 5.1, F M6x1.0Px8 R, FEFL O8x6 e HGEE) 14 6 6 44 34 12 10 15 | 13.6
40 B 96.8, INF M8x1.25Px10 F ; #Xfl @10x8  F; (M) 18 8 6 52 40 16 14 15 | 13.6
50 Bl @6.8, IZF M8x1.25Px10 % ; 17l @11x8.5 F;(M&) | 18.5 | 8.5 9 62 48 20 17 | 216 | 19
63 BFL 26.8, INF M8x1.25Px10 & ; #:flL @11x8.5 F;(@WiE) | 185 | 85 | 9.5 75 60 20 17 | 23.5 | 20.5
80 @I D10.4, WF M12x1.75Px12 35 ; ¥ 7 @14x10.5 & (M) | 22.5 | 10.5 | 10 94 74 25 22 | 276 | 25
100 #FL @12.5, F M14x2.0Px15 E ; #£FL §18.5x13 F;(Mi8) 28 13 10 114 90 25 22 | 27.6 25




